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N1 -oEAFRTHY,
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{x =5 (mod7)
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7k+5=2 (mod5) ..2k=2 (mod5)
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k|0 1 2 3 4
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LR BHDT, 2k=2 (mod5) &7 B DI
k=1 (modb)
k=175 OfEK
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N — 21001 + 31001 + 51001 + 71001
N = 21001 + (_2)10(]1 + 01(](]1 + 21(]01
= 21001 _ 21001 + 21()()1
= 2" (mod 5)
THDHMND,
2% =4 =-1 (mod5)
WICHEA LT,
N = 21001 = (22 )500 % 2 = (_1)5(}0 % 2
=2 (mod5)
XoT, N%5 CHorinix)2lch
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N = 21001 + 31(](]1 + (_2)1001 + 01001
= 91001 | 51001 _ 91001
=3""" (mod 7)
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3*=27=-1 (mod7)
ICHEB LT,
N = 31001 = (33 )333 > 32 = (_1)333 x 9
=-9=5 (mod?)
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{NES (mod 7)
Ziil= DT, HE 42 OEREL Y N IT
N=351+12, 1iId D%
LEED, LoT, N%35THoA

iz ch s,




